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Har= ) o @ SAW kAL 6 1 POS > T3t BNC ~ SA 7 POS F st e

W 33 L 2 SN A e 0 SAW i M@ * gl Bt ik Ao T

2ALFHFEE

BNC SA

b et B P 350 g & 1134

i TN A FTIE R
U S AE L
1A Aa AT AF AT

# 1974-1994 2002-2006

POS 62 7 36 18

4.1.2 F 25w ¥ 4 5k

P G b f AT BRI EE S Y 0k o dow i TR & 60 VIEW
A SR[6][19] © ¥ ¢t > Google & 5oF 35 % SEE G frk < R F TR AT 2
FF e etk R kAL F BB VIEW & 2iqr Google & 32 SAW & fiit gk o
@m VIEW & * c2Z 4 & 5 BNC 3F# E > )¢ # ;% 4 concordance i h
;85 Brr g P (exact) ~ § * F ~(wildeard) ~ ¥ 3 B 5/ % E (prefix/suffix)foz@ 4 1%
HPOS)» FREEFP > SR 5 > 25 A/ gL o @ Google
TALE S A REF > ber$ 38 5 osnippet fr cache » H ¢ snippet 3 e F R4 p
% > cache % ® | chEF PR E o Google ¥ ﬁs?] N RN S BT P (exact) ~ §
* 3 A(wildcard) > EB~e 4L R FOL oINS o A PR M B AL
Z ARG R P D A RT AESHEF R TR A R o RS

B2 RAHESRTOEEE Lo KA SAW - VIEW ~ Google & i -3 7 4%
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PR R EORE > T RFERH DT RS LERDOOA N AFTR T

B s seant i do R

% 42V H E R

SAW VIEW Google
corpus(or homepage) | BNC ~ SA BNC S
b o7 F2 5% sentences concordance snippet/cache
By~ B84 exact exact exact
prefix/suffix prefix/suffix wildcard
wildcard wildcard
POS POS
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i B 2B/ EN 3 EX-2L0
5 MSA & RN R A
ZARM G A

413 F %X

v

AFTG L7 i SAW i SLHE I B (PR P chrd ok MR Y EBE R i
EFYEOEREYRFIV A QENFER R LA B FHL < FF
B 83~94 Eind 3 £ 168 AL LFRE BT (2R ) BHR
Bl Y I A R EP R A MR R T g o
7R o AFTY FPEEH B TOFEL 89~91 e 48 » 23+ 11 8 » 484 & 534 ~ * 2
Bl e B RHRMAU S IARRE Y FRIEF E R R T

R e E
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% 43 RFEHRF KA

< gmt /% p | TOFEL

B ¥ 83-94(16 #1) | 89-91(11 #)
7 AL kST Gk SRS 2
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BOORBEER AN EY FOF Y Sk FHRFR DL BEFRHE
EBGTR )R 3R (2 Y F L RTR ) RIGTE L GRTY SRRt
MaEF (B 3~ ¥ 330 %) HRE Y F &R TR 7 i FIM&F 7

HEAALHEDFIE > v i T8 Y finHkape o

BME3ER il &P s FEREE Y —‘ﬁ*“ﬁé’{.’% T b g 33 2T Y
R i 'ﬁlﬁ”g; L ES o IR K XLR L G oo ﬂ\f-ji/{t\a e St
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<

SRR ST o T J RS nL B FEU S AR 5U A BT IE SAW b

ad

2 ) AL M

AT ol BT E B g Ay AT

BERITEG 2 o 0 AT F % X U|(TOFEL)® 5 P~€ & el 4 » HiE B
CAUE A A g vt o o SRt TOFEL a7 R [OlE & S5 E P 45
BHEZF P 123722+ (7 F subsequence # i ~ % e &) R R A
HLET c AHRTKEBARAF A B - BARLE L AEER DL 45
BH F P E SAW ~ VIEW {r Google #7F | (R F ) cndic® L% - %= B
R LHEF VTR 4 18 BHF PE 1 SAW iR pend i A E

(exact ~ prefix ~ POS ~ wildcard):® & # vz & 8 ¥ J" HAr B (gL o
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ke
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“D‘
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fal

A RS dnEdEd < i et FF 02 TOFEL 2~ 43 » 5 HiE4E 16
o FN3 N HE RPN FELRE S - D L2 RTEFE
EFBIERe Y By KRS hEEEE LE R 2R AP EHE S
W gt ORP AR RDAFER PR AT R AMERT > kn
SR R S S R R A NS L S 3
PR IEOT RSP AR o h T RS T T LT L Sehoakdg R A

TR E § R AER S R [36] 0 Bk MER RS AT 5

43 3 %4

Y
¥

BLE YRR ARTE Kok RS R RS A R 0 e

(FFALA dc: 287§ JFd BALHCRE ¥ F0 R 17D hlaet > a4 & faeh
FIE T f’ﬁd B —*fm/,; BTl h S s ARBH A BT H SR g Y ;F'k
BT FAL R K ARG T RERDHEBIEY F PR R

(Usefulness)f=i% & & (User Satisfaction) °

QO ER D HERLEY FHN AR AT B R B R Y i
& (Recommend for User-Usefulness: The degree of actual usefulness to a learner) = 4
ﬂf%*ﬁgiﬁ?w”*aﬁ%4ﬁ£ﬁﬁ&mﬁﬂ,%ﬁﬁ%g\ah%
B Mgk BRER -HERIDEY XA BT AT HNHEE R D

ERR A LRSI D LA
QLA BARLEY FH b aREaT R L FRB L DR
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(User-Satisfaction: The degree of satisfaction to a learner) © &7 7 ¥+ /% & & ™
FENEHEPS B MR SRR TR CBE - F T SRR Y
BT oBAATEL EY FARIER o AT HONR TR g R 5 2 5

g o

WFER P ERLIABEY FB» PR G E HEI N P %o
39 ﬁ TR ¥ %+ engp 12 & (Match: The degree of fit between the actual answers and
the retrieved answers based on the different query) o 2 7 ¥t & & & cn®ip & 54
Lh- TEBRKESSP BB LEEY —‘*‘?Eﬁﬂ ¥ % et @ (Number of
relevant retrieve / Number of retrieve) o {# & B e 4d A3 gL E4 % Som 5 o S

RETHEVFOM R PRNFE R A RANER R Y K ALY
i

JRE-FPERPLEY AR TP R e #riphine & i

FOTAEEEH LT BV FORER RN A iSRG

FRGRFILE A B FF ()i iF  (vague query) * B ¥ FH LA

ED

3R 3R B % o Bl4cR0F a proportion of H 3 0 BV H F % LH
% & a#(wildcard) of » 7 # 5 %4 7 aproportion of # » &4 alittle of ~ a bit of
FHRE S B kAR ERTE 5 (b)4EIE 2 (false query) @ B Y E 2
BAERG - Grf2 R ePgE 3R o b|4odEF a proportion of B :E o £ ¥ Jﬂz %

¥4 39 05 2 % aproportion on > FE P % % € & -0 a proportion of el ¢7 o d gt R

BRolF 2 Z P ERER -BLA CPERIOLE BREY FREW

7 M makeup AP B N R F bl RBEBANIEE AN T T ARAEE 0O
S;. I would make a really nice dinner, and dress up.
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S,. I had made up my mind.

S;. My friend had wanted specifically to talk to a specialist, so she could make up her

own mind about surgery.

S4. She has to make up her own mind.

ZEVH TSI A 37 makeup AP B her 3] o S R i LRSI

2827 7§ makeup 1E A 0 LH Y F T LR make g A

A
%
Ef
w

= made @ f {7#- S g% & F ¥ 7 % % (Sy. I make up my mind.) > F]7 &

VERE SEERIBLARIGEE o 190 S0 AT Y K7 5 421 3] make up

M R FEHSO R REL > RF Y FRG SHERFEILELA

>
\

|

H Mo B3 Sy 7 e E 37T make up 4B M 0k e Bl e Al A ER
BooREY R SSAEATELRLLF A LR BV HRLTY S
é flﬁ(make up)’@? Si~S,~ S35~ S4 VIR el -_i‘ » AF 2/4=50%(S3S4/ S]SZS3S4) ° ?:* @

B ER - BLAEDHER T AT -

Input: V up Expected answer: make up #ER ELY i AR
Si. I would make a really nice dinner, and dress up. No Low Low
S,. 1 had made up my mind. No High High
S;. My friend had wanted specifically to talk to a specialist, so she )

Yes Medium Low
could make up her own mind about surgery.
S.. She has to make up her own mind. Yes High High

W4l PER-HER -BRALRSHART

ARl D REA AL R SRR LAFL L T MERER 1
R AR BRS FHIRERATHLRLS BV F MG AR B

A BN - RS LB o
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L FE MEEAPFAEY X3 T ARREIR GRERF AT TR
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vocabularies) » B @ 3 o il e Sy eEF FHcE 100 @ B! Sy~ S3 Sy A b
6208 a2 nlieEY o BY LTRSS A
10+6+20+8=44 - m d ¥ A H v T FY ﬂlﬁ-&+&?,§’“ﬁ A ga Al g T
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PEEE AE S 40 O AL FR R PRR

TS SRS R RS ENE SRR E S TR MRy

E

FYXTRBLI Y EF A RTNAKEY F P FHELL DTN - SAW
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BNC F#LE P i "&eacute" % 7 o AREFFRF AT 3 F L3 - 1 w35 o 7
$ 0 SAW ks R e SR bl e chi ) o sedp il e BNC AL
¢ VIEW s Lt o % 6] 9 B ebfe s 7 — f10h o 40 B 5 9 55 chifeRog & 0
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WY R log RO AR RRF A HE L BED LT A
G E R P f R F S ko Gl FE )0 5 ]
4010 P enE BB A NEE 612 5 1000 240 10000 SE & 12 log &

P R w&log BT RE P anTR AN E e

Lo AN IHERE A
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2 ~ ~# e
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F Q0 D S T 5§ & & 5 & e & ¥ o s & © L & © 5 =%
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S FETS TS TS IFTEE S s e s $
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HOpi b gk > Google & chie 7 #ic# # SAW-BNC/VIEW-BNC £ 2~
Gl PR % % > @ SAW-BNC i B & chlicE 7 %3 SAW-SA » @ B 813
A oBEER 42 B 43 i log#ic® P ARV L B AP REEF P E
W EBEARE Y N Bap gt S 2 E 0 F T E Google kiR X H F P AR
=t ficid > 48 51 1/3 > SAW-BNC ~ SAW-SA ~ VIEW-BNC + v ik > 8 e1% 1/3 5
¥em g2 gt 45 BEHF PEY > & BEEEISI T fra(balance) 0 T2 €
FuptEprE 3 P A5 BEF P ZANBEZER Y EY Ltk
SROL 45 BE F P 3F 5 L EL_TOFEL ch 11 #3535 ¢ & 3 T 3081 4-5 B § P2

Pk o BB SR R B e SRR i AR HFE R Y

B3 Pdammi i & d BRSBTS F e £ EK T F
BERDADIFE FFRERAIR F I AT R e anh e e F B
K Y45 BEZ PEFP N 10Bd A BEZEF oA hPE 0z §Bd 5 BE
FHFE LT RIREFRA o FHEHET exact ~ prefix ~ POS ~ wildcard % # i
AERAROAAGEEHREY F T A @I e $0R % R o ik

R LR e AR A LT oo

$0a BEFET RSP RRRERG I HABA L AL AL B

N

PhzamEE s 2355 4 <83 mhEafce f (exactmatch @ #-a BEFE F =

2

Wi ~ > 4ot specialize in & & > F S A~ specialize in > X PR B AR~ 23
g R I G endg iR o Q)prefix | #5 BEFHEFHY - BEFEF - BE
#F A F % prefix 3l E R A 4or2 specialize in 5 &> #-4 5 s% in {r specialize
% A7 B[ IEE > FHREFVABA[ELNTIHPR LR -~ THad 2 4

BRI E cBPOS KA BEFHEFHY - BEFEF L POS £~
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% %7 439 > 4ot specialize in 5 B 0 #-4 5 Vin fr specialize P & 87 it 04
AIEE R BA T P AAEEOTIEB LR TS A FHRTE D
Apik o )wildcard * #-3 BEFHEFHY - BrFHEF Y wildeard £ & ~ % & 7
%39 0 4r)2 specialize in > -4 5 #in e specialize # 7 AV & 0 39 0EE o B

AAEF AR OTIOE LR 03] E R R AR R o AT ST

LW
HEHce Expected answer: Evaluation
specialize in
exact -
specialize in
match
Cosw Y ”
prefix
specialize
Gy
POS
specialize
wildcard
specialize

W] 4.4 specialize in 14 exact match ~ prefix ~ POS ~ wildcard &4 3§ = ;¢

VIEW % kg2 3 it exact ~ prefix ~ POS ~ wildcard %~ % » RH ko r
£ ERRE OEF] 0 @ Google [ 5p] & b if prefix ~ POS %2~ % » &z VIEW
v Google 4 si# 72 73t @ & g ant gk § ¢ o VIEW ~ Google 82 & 48 & £ & 1
41> #X VIEW % %t concordance ;% ¢ - B oAl & B X 5 20~25 B H F »Google
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gosnippet $58¢ - B oAl 5 25~30 F BE F o & k3t VIEW ~ Google ¢

PA R A= 6] e 22.5 40 25 T 351 ko SAW - 4 o

AL R R 10 B B4 TR S 10 B oS B ¥ R 53

\

XA 10 B o E F F oy 3T Ry o B 4.5 Bor prefix i et
P10 BHEY BELE R B POS B o A POS A £ BB wildeard &
AP RHE Y 5 - B L native to F3F 0 POS A e & R B Prefix

® >
U fass e g

‘yk

BN LR 10%(E 1B 6]#) 0 B gusmp prefix & ~ 4

@ iEit > m POS =t 2. » wildcard & 4

SAW Recommendation(first 10 sentences)
M Exact Match B AVG_Prefix B AVG_POS # AVG_Wildcard
S
=
2
<
=
specialize in responsible for familiarity with relevance to deal with
SAW Recommendation(first 10 sentences)
B Exact Match ® AVG_Prefix B AVG_POS # AVG_Wildcard
S
=
2
<
=
essential to native to composed of determined by guard against

W45 3 REaFIFRER

W 4.6 &7 > VIEW > Google # 3| % & » " FH Y & F 70§ + £ e 4
2 S Em SAW AP AE S 7 Y E AL ®d i EBHIGEL T )
i EF gk ARG F G EYFEROF R B REEH

H o B IRA R Y €2 MBS R DR TS O iE i (vague query) 0 Tt T E Y

ﬁ%’ifé P EEEAFHe prefix) ) FEREF R RAMHENLIE R
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Al kR TR T

SAW,VIEW,Google Cost(first 10 sentences)

B SAW_Exact Bl SAW_Prefix B SAW_POS B SAW_Wildcard B VIEW [ Google

Cost(# of vocabulary)

specialize in responsible for familiarity with relevance to deal with

SAW,VIEW,Google Cost(first 10 sentences)

B SAW_Exact B SAW_Prefix B SAW_POS B SAW_Wildcard B VIEW [ Google

Cost(# of vocabulary)

essential to native to composed of determined by guard against

B 46 & BEZEEF SAW -~ VIEW ~ Google e 3] & &

P Y R A BEFE T A Y E AT SRR Bior BEFET
FOVE G AR R U d ke e A BEEE S VHE

P

B ErE- 2 kR 2 BEFE Fehprefix AR EV R hAP[IEEG = B o
5|41t a proportion of & &> ¥ it F a% proportion of ~a p% of ~a proportion 0% =
BB S R RS A G NT IR0 LR T a0
A% F B E gtk o PIZ > 12 a proportion of X &0 POS A Hev i O
proportion of ~ a N of ~ a proportion P = f87 % 39 i% i+ ; @ wildcard % 38 fice
¥ #c § # proportion of ~ a# of ~ a proportion# = f&7* nHhg g o pLpE s F
AP 2B EnTHR LR TS MG I HRTFL itk ¥ b
o B EF H F o0 prefix ~ POS ~ wildcard &3 fcev sccnhgis it 3 v B
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AR ES SRS S E Ty SR L RS £ F T T

B 47 Br o BaEF AR S SAW enfd & R 22k g v B 5 3 B BT chs add
REG S BEFEF R AN E B AL PRGE a0 Y - BMAET LR
WaFRT > B Y '*Ff BE N EFER G et o m B %R T 0 prefix e s sk
% 3% POS - > POS #i-% % *t wildcard #-% > Bt prefix £ iF <% 5 "A4[i5 i

fsg B g iEE > @ wildcard £ iE ~ & UHIEE E A S B Rleho

SAW Recommendation(first 10 sentences)

M Exact Match ® AVG_Prefix B AVG_POS B AVG_Wildcard

a proportion of in danger of at one time as a result of

SAW Recommendation(first 10 sentences)

B Exact Match B AVG_Prefix B AVG_POS B AVG_Wildcard

Match(%)

play a vital role take the form of in the presence of make it impossible to

MA7 s REFIEFPRER

BoRFIAMETARS  BLARERHHIEFTHEARYS o fod BE F T

SRR ALENT LRSS A LS D o
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SAW,VIEW,Google Cost(first 10 sentences)

B SAW_Exact B SAW_Prefix B SAW_POS B SAW_Wildcard B VIEW E Google

w
=3
=}

1353
=1
=

o
=]

Cost(# of vocabulary)

=]

a proportion of in danger of at one time as a result of

SAW,VIEW,Google Cost(first 10 sentences)

B SAW_Exact B SAW_Prefix El SAW_POS B SAW_Wildcard B VIEW E Google

300

200

100

Cost(# of vocabulary)

play a vital role take the form of in the presence of make it impossible to

W48 5 B35 H 3 SAW ~ VIEW - Google éhé ] & 4
4.4.3 F o fripiel Faml

AR AR AR ¥4 subsequence 1 iE Rk ot et $f g
gl P g R 2 EF A NEAS o L g R Y A A
SR P R T T RS RIS RS o VIEW & e Google [k s
#£ 473) subsequence s E A F 0 A I r B E R Jrer Al AL o AT Y JGE
Betn 12 3 & ¢ 3= subsequence # if 7 % 114 3§ = s(enable * to ; derive *
from; expose * to; not only * but also; would rather * than; distinguish * from divide
* from ; expand * into ; provide * with ; the same * as ; either * or ; so * that ) »
HEHN 12 BF o P FEINLEFEDEEIE ii@?l » o Bm % o ¥ enable ...
to 15 3% > %] &, 14 enable * and v enable * but eR A 45 24 24 1F 2 R E Y '*Ff e
Gob g X T 0 L BieT e ] A A hdy itk Senpi et 2% 7 R Bl

-
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LiEke Expected answer: Evaluation

enable ... to

v

A 4

subsequence enable * to

A 4

enable * and

partial errors Avg Match | Avg Cost

A 4

enable * but

B 4.9 enable ... to 14 subsequence 4 partial errors #7% 3§ =+ 5%

Mt 12 BF P 005 - BE RGBT RE L to, from, to, but, than, from,
from, with, into, as, or, s0° & F B #-38 & 45 FFenin a0 and fo but kB~ b i en
M43 > vE— )¢t enE_not only * but also ® #but > F| but £_i Fx* ;> F Bk

but B~ 5 or § I8 A S EILACaN A I L o

7

PR RN o MY G 0 AN HE Y FR A AR PR
(& & 100%) « By FmABFORTS 6 0 AWEF § T OMEF g
Fiehsg R m § % Fp =8 22 > B4 enable * to Flh B AETE R o éitz‘f”vn"é#%—toﬁi;f]
» = and # but > ﬁ?é%ﬁﬁ JBLERZR A WL 1 T - L B4 o AR F £h1 3% 4o either
*orfrso *that + ¢ ¢ ABf4EF (Pt OB aR 58 R 7 % 0 B8R BN VL e B
TR FYFORERTG U R RE RSN A §EREY
’F‘]’Jfﬁﬁ 4T A F 5 4 F(false query) H 5 ¥ (vague query) o 2Xd B % eh
BEETOTFLIEYF AP ERDERT CRBFREN OB R A R A
¥ R F F 4535 (false query) & % # 43 Bi¥(vague query)shAsa s 248 2 » 7 1UGh

RREREEY XEI - 298 (Fihes o
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SAW Recommendation(first 10 sentences)

B Subsequence B Partial Errors ‘

Match(%)

enable * to derive * from expose * to not only * but  would rather *  distinguish *
also than from

SAW Recommendation(first 10 sentences)

B Subsequence B Partial Errors ‘

100
80
60
40
20

Match(%)

divide * from  expand * into  provide * with  the same * as either * or so * that

B 4.10 subsequence 4= partial_errors 3§ > s & &

g A g%y MNP LR N L4349 (false query) » F T &

=

2 — 4

B FEEREIN I ENAFIELE N b o RS g A g kA 10 B

LRSS L EL RS SIS S ey FEEE RNy O

7

SAW Cost(first 10 sentences)

B Subsequence B Partial Errors ‘

= 300

g

2

s 200

o

>

3

* 100

3

© 0

enable * to derive * from expose * to not only * but  would rather ¥  distinguish *
also than from

# 4.11(a) subsequence §= partial_errors %34 = 3% & 3| = &
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SAW Cost(first 10 sentences)

H Subsequence H Partial Errors ‘

300

Cost(# of vocabulary)

divide * from  expand * into  provide * with  the same * as either * or so * that

®] 4.11(b) subsequence 4= partial_errors % 3§ * 3% & 4| = &
4.4.4 FR%K b

EREEGEEY > T A TOFEL R3EPE & ¥ 3 P F{ro A1 RS
ek T I A0 S P~ sl A 3 » SAW % sifp >t VIEW % 4t
fr Google & sifes Rplf = L hiE 4 &7 SAW i Sia ol 225 Y

4

FNEF B EEaReg R SAW 5 S E R Sb| ot VIEW i s

NN

concordance {r Google 7 snippet 23 + 7 e = F§ JI30F T H 30 T PR
PEMBEH AT Y he AR AL G EP SAW it VIEW {r Google
SO R DE R R A ke Skt 2 vh 0 SAW KR R A I 7 e el >

WHIER BB Y Famuad £ agd P& RS%E BT SAW s
WILATRRR D P OF Y FIER B - TARRDB TR LA EP SAW st

PR ERR o G AR ST o
451 % % o=

+ SAW

TRl Repp s FEREEY ,&%“‘_’F{, BT gulie s I3
GRS Y KR o BB R G A SRR AGEL W ) R A
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£ 4 A | need a nest of glasses.

pLE A AT fe engs iR L 4 OB f# glasses YT F #Efiv TR o &ré*a?;ﬁi?] » a # of
glasses ** SAW kst 33 d L S5 BFIFRLE ¥ B RZ 5 tray
set ~ couple # pair(glasses >+ % ¢ enfEf# 72 ) > @ 2bnest’ # & & 5 10/10 > ¥
m

20 PB4 EI R IR AR SAW kAo i A il i EE

“~

)

% 4o AT

£ Applet ¥ B : Color_Main class

Applet
wmA: |a#0fg|asses || A || t—= || T—B |

Corpus [BNC_ALL |~ | MaxResurt 5000 |+ Sample| .............................. |v| [BIRPOS [v] BAMISEL EMBSF 7 StRsH

AN Exact Prefix,Suffix(®) POS{P,J,N.D.V,0} WildCard(#) Subseguence{®)

Stastic Time=0ms - |
Cutput Time= 0 ms
Total Time= 18359 ms ]
st
ildcard num 3
nair(f) coupledd) trayv(3) set(1) stocki1}

Bt o

1.Emil gave me a tray of glasses.

2Afondue set, a set of glasses a cuddly toy.

3.5hewasn't afraid to wear a pair of glasses,

4. Rose came inwith a tray of glasses and hottles.

4.Carnline, Roger's partner, came into the kitchen to refill 3 couple of glasses.

6.She fumbled a pair of glasses from the folds of her sari and looked down the register.

T.Along polizhed tahle stood inthe centre, holding an assortment of bottles, and a tray of glasses.
8.Mearly twa hundred gquid he paid for a pair of glas=ses and she sat on them didn't she?

9.l wear contact lenses usually, butl have a pair of glasses which are now about seven vears old.
10.Mvhile he was inside one ofthe farmer's daughters brought out a couple of glasses of milk for us.

Applet E&58h =

W 4.22 a # of glasses ¢4 39 & %
£ 4 B. | would rather going shopping than staying home.

PB4 A e ks 2R L ¥ would rather ... than 0@ Al 3 X 2 E 0 H P would

rather 6 & &7 > B R 2E > AT pend A 5 1 would rather go

shopping than stay home.
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B &R A 5/5;: @@ * would rather * than *sh A [ iF 2 v s L S4g g 6] ¢

7

WA [would rather Vthan v || EPN || t—5 || FT—H |

Corpus |[BNC_ALL |~ | MaxResutt ST s \v| CimmPos v mERIRL LA (VSRR

AN Exact Prefix,Suffiz(%) POS(P,JN.DV,0p WildCard{#) Subsequence(®)

FOS numd (Original Retrieval POS)
diel2) resignil) hagale() starve(1)

FOS num2 (Original Retrieval POS)
o2 give (1) borrawe{1 ) weork1)

[l

g =

1.1 weauld rather starve than work for somebody else.

2.5he zays she would rather die than do that again.

3.Mat even for his father's sake or his honour's sake now, only because he would rather die than give Isambard best.
4. vhy did he say he would rather resign than do a deal over PR, unless he knew he wouldn't have to?

5.0ther farms of credit, personal loans and hire purchase are still expensive, though, and consumers on recent evidence would rather haggle
than borrow.

Applet CESED -

# 4.23(a) would rather V than V 4= would rather * than *: % 38 % %
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£ Applet ##lE : Color_Main class
Applet

A |w0u|drather*than* || EPN || t—5 || FT—8 |

Corpus |[BNC_ALL |~ | MaxResult e — |~| CmeRros o maRIRA LT [ sEakhet

AN Exact Prefix,Suffiz(%) POS(P,JN.DV,0p WildCard{#) Subsequence(®)

Retrieval Carpus Time(SQL)= 4328 ms
M SA Time= 47 ms

Stastic Time=0ms

Fist: [Output Time= 0 ms

Total Time= 4407 ms

Hi g o

1.1wauld rather starve than work far somebody else.

2.8he would rather have hirm than a hundred friends.

3.5he zays she would rather die than do that again.

4 Hewould rather die now than carry on under these circumstances.

5.1 would rather lose my selfthan share it with Syl

6.1 would rather do that than run | know notwhere.

T.Shewoauld rather go out with a bang than a whimper.

8.Children from well-off families would rather play computer games than go outside.
9.Jon, in particular, would rather be working or studying cricket almanacs than sleeping.
10.He would rather died on the spot than endure that pain again.

Applet ESED -

B 4.23(b) would rather V than V 4= would rather * than *=1% 39 % %

& 4 C. My mon always get sick so my father tells me you have to __ care of her.

,

PL B A hr)e ends 3R 5 3T mother(mom) s F 2 < 3 E 0 T ¥ 43 to take
care of e A4 HEpfd - F %&b i eanhfsEx £ 5 3 304 & B 5 mo% * father
{rto care of » H ¥ to take care of #x &, 14 R A 4 A 2 ﬁia?J (57 take) > -

BEY H s gdnaot higend SRFR &% mo% * father 04 39 iF

5l

S

Bwoaustam L o b e v “,%ii‘* %~ % L e P B A Fg 0 mother 5%

BERLZTI0; mid* tocareof FMA[IEET AT L jEE G| e %?‘ﬁ% .
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WAL Exact Prefiz,Suffix(’) POS(P,JNDV,0) WildCard(#) Subseguence{®)

Cutput Time= 0 ms fiz=d
Total Time= 6109 ms

S Prefic_Sufic numi
mother(238) more(34) money(1 8) most(15) morming(14) moved(1 4) mathers(12) months(1 1) moment(10)

4] I I ] |

1.Her maoustachioed, bow-tied father is with her.

2 Wy motherwas thiry-eight, my father thirby-faur,

3.¥es, with my mother and my father =unclear=.

4. Wy mother and father looked at each other.

4.His mother had died: his fatherwas cross.

B.In the morning their father would be married.

T.Wy mother the past, my father the future.

8.ln ahout 1982 mother and father commenced cohabitation.
9. Her mather and father had aged dramatically overnight.
10. feel more that itwas her father .

Applet ESED -

Applet #aH# = Color Main class
Applet

@A: fio care of | ®mx || +—= || v—=8 |

Corpus [BNC_ALL |~ | MaxResuit BN s |v| Cimmpos [ BAmIRE bR [ SERL

WEAIEF: Exact Prefix,Suffiz%) POS(P,JMN,DV,0) WildCard{#) Subseguencei*)

Retrieval Corpus Time(Buffer)= 17422 ms=
MSA Time= 218 ms

Stastic Time= 16 ms

FEst: [Output Time= 0 ms

Total Time= 177149 ms

1.1 had to take care of myself.

2.1 gotto take care ofthis too.

3.He had a blind sister to take care of.

4. Philip had promised to take great care of them.
5.1t's my job to take care of you.

B.Their duty is to take care ofthe island.

T Anvhow, I'm supposed to take care of her

8they say he knows how to take care of himself

9.1 felt a responsibility to take care of my child.
10.Please write to hercare of PR Promotions at ACE.

Applet 2 &58h -

B 4.24 mo% * father §-tocare of éh% 4 % %

70



7

doid ez BE AL G VLY FNE R B T LR
* 7 7 eexact ~ wildcard ~ POS ~ subsequence ~ prefix ch4 i~ 2 § % Fp ¢«

4

s Bt R B b e @I - R RIRS o
A7 F B~ 7]

i Bl & A W Y R SFEAE(BNCSA) M E 2 ik
(VIEW -~ Google) » #3# 2 ## 7 ch%k ) K JR(TOFEL ~ < § B4z {c & B)) > @ & 2
Ewmr eI ALHEGEEA R -RER CBLR CPBER - PAIR) g
BRI AR BRI E B N0k S D AR chA MR 5 2 19851
& RATH A A K 7 L (vague query - false query) @ § 3 F 75 it 87 19 3
- TARR bR Eh o BRE A S 0 SAW kAiat B4 R LA R en g Y *- e
BB (TR PRIBES SRt b AFT R RS 2 enit e B 6] 5 10 SAW i

S PR TBFIL SAW A i AEE B - Tl es o

71



